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General Instructions :
(i)  The question paper comprises two Sections, A and B. You are

to attempt both the sections.
(ii)  All questions are compulsory.
(iii)  There is no choice in any of the questions.

(iv)  All questions of Section A and all questions of Section B are to
be attempted separately.

(v)  Question numbers 1 to 3 in Section A are one mark questions.

These are to be answered in one word or in one sentence.

(vi)  Question numbers 4 to 6 in Section A are two marks questions.

These are to be answered in about 30 words each.

(vii) Question numbers 7 to 18 in Section A are three marks
questions. These are to be answered in about 50 words

each.

(viii) Question numbers 19 to 24 in Section A are five marks

questions. These are to be answered in about 70 words each.

(ix) Question numbers 25 to 33 in Section B are multiple choice
questions based on practical skills. Each question is a
one-mark question. You are to select one most appropriate

response out of the four provided to you.

(x)  Question numbers 34 to 36 in section B are two-marks

questions based on practical skills. These are to be answered

in brief.

31/1/1 3 [P.T.O.
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HT—-3A
Section-A
1. T=fafegd d 8 T 1 e g9sidig Aifies fafiau - 1
(1) C2H4
() C,H,

Write the next homologue of each of the following :
(1) C,H,

(i) C,H,

2. T o 39 W o1 9 IRau SI|T wifies Jaeiq o fou sfciehnd
T B 2 | 1

Name the part of Bryophyllum where the buds are produced for

vegetative propagation.

3. @I YThicen T hl gt ST | 1

List two natural ecosystems.

4. 39 < feufaa o Seoi@ Hifse S8t forell o sl Tad W 3radet edur
SR 3ok ATEMId Tfdfeors sd & | 39 YR & Sldfenai o 7O | &l

ST o At ST | 2

State two positions in which a concave mirror produces a
magnified image of a given object. List two differences between

the two images.

31/1/1 4
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5. Toreht 3fud YR @ EIicld STA-9WR TeEH o IR AT sl g

ERIE 2

List four advantages of properly managed watershed management.

6. Tt T8 yemwr Y Ieewr Gfea =aren Hifse ew o a@ &

Hihd 9T 8 99 1 Tel-eH BollcdTdeh o | 2

Explain giving example where active involvement of local people

lead to efficient management of forest.

7. wEudASt A w1 E 7 A A AR @ " =B g 7 Sk o
forery T[oTt <t = ST | 3

What are covalent compounds? Why are they different from ionic

compounds? List their three characteristic properties.

8. & uwIATa Wiz H,SO, #i Jufeufd & uiiss e & atfufsran oan 2,
T Hg T g TeTed 3cqd Bl @ | i fow ey o s A 3

(i) Tg 7Y a1t A Afiek o Afrent & it § 7 2, 3uept AW faRaw |
srfufsran =1 TR THieur 3R 999 9T 3T o1 91 fdfgu |

(i) 39 STfwfshan ® |5 H,SO, % J(Heh 1 Ioei@ shilsTT |

31/1/1 5 [P.T.O.
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When ethanol reacts with ethanoic acid in the presence of conc.

H,SO,, a substance with fruity smell is produced. Answer the

following :

(1) State the class of compounds to which the fruity smelling
compounds belong. Write the chemical equation for the reaction

and write the chemical name of the product formed.

(i) State the role of conc. H,SO, in this reaction.

N

9. Hfcaam #IE qeca 2 oreht vy s 20 7 | = fow e yes g w6
T gied I e : 3
(i) ohfclam 91g 8 STer@T 319Tg ?

(i) THeht TTATY] oo ufyem (W] T = 19) ¥ w9 Bl SAE
feren 7

(iii) 39 TTRTES I T faIfaw |

Calcium is an element with atomic number 20. Stating reason
answer each of the following questions :

(1) Is calcium a metal or non-metal?

(i1)) Will its atomic radius be larger or smaller than that of potassium

with atomic number 19 ?

(i11) Write the formula of its oxide.

31/1/1 6
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10. 15 9@ ‘M’ Sae soaeq fomma (2, 8, 2) ®, 9¥s €9 O Holhi
(NO,)",(SO,)*” @ (PO,)’ = W1 AN AT & | 38 THR o A
Afirert & g7 fafaw | aea M g sad anoft & fora agg e
Ed | oA ®7 M’ HEgdrst AR ST SIeEl ST A
FATE ? 379 3T hl SR Aed S it | 3

An element ‘M’ with electronic configuration (2, 8, 2) combines
separately with (NO,)",(SO 4)2_ and (PO 4)3_ radicals. Write the

formula of the three compounds so formed. To which group and
period of the Modern Periodic Table does the elements ‘M’
belong? Will ‘M’ form covalent or ionic compounds? Give reason

to justify your answer.

11. Sia =R wifieh S ST S ot SAYET 3TANTeh S gRT S ke, 31
et o S o3 difedl Toh Faradi § U ol G&T Tohd TR fard &)
TEt © 7 3UYTh SQTETT ohl TRl ¥ ST il | 3

How do organisms, whether reproduced asexually or sexually
maintain a constant chromosome number through several

generations? Explain with the help of suitable example.

31/1/1 7 [P.T.O.
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12. = 3@ T M TC 9EN A, B 3R C & T 3T IAh 1 Uh-Ueh
foRaw | 3

A
B
C

Name the parts A, B and C shown in the following diagram and

state one function of each.

A
B
C

13. AHa SHEE @ FEta @, S 6 9w & @ o vgfg & fau
AEwE B, il HiE b T Ty ol gamse ) y@w e % qm

fergT=d &1 Soci@ hifsTu | 3

Suggest three contraceptive methods to control the size of human
population which is essential for the health and prosperity of a

country. State the basic principle involved in each.

31/1/1 8
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14. T & Neli o A1y e T Hed & TH TN § IR I e TR T
STd HeX o Y[E OF Y 1 IS S WY o "1 FROT R T, a@l
Htd ol weett HiEl, F, H shee ol 1e giem=R 8 3 | 3

(a) 38 TeRUOT § S I} o SI&T0T1 shl 1 BiaT & 7

(b) S F, gl o Tl o1 SORATor g s R @ 3 T U
fopan fo @rafa <t gadl Hi€l, E, # SH1 Qfoli- ol 0e 7R s WY
fomms 3d 2 | Tan 1 gem ¢ Hay # e Hifv |

In one of his experiments with pea plants Mendel observed that

when a pure tall pea plant is crossed with a pure dwarf pea plant, in

the first generation, F, only tall plants appear.

(a) What happens to the traits of the dwarf plants in this
case?

(b) When the F, generation plants were self-fertilised, he observed
that in the plants of second generation, F, both tall plants

and dwarf plants were present. Why it happened? Explain
briefly.

15. 3IUTfSid &I TR TSI Aeon o s o fasiaenrtt aeqon st g=ht
QTfeASRT o &9 | ST | 3

List three distinguishing features, in tabular form, between

acquired traits and the inherited traits.

31/1/1 9 [P.T.O.
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16. = fou 7w 3@ =i, oo 1ader /39 gl W whig Tkt fohor 3fmdas
St Tl TR 7, T I Yfedeht W T | e TeRtr | 39 foRom
1 90T B YA o YITd Rl Y S90S | 3

Yy L N/
"

Draw the following diagram, in which a ray of light is incident on a
concave/convex mirror, on your answer sheet. Show the path of

this ray, after reflection, in each case.

17. ITd:3c G ThiH T Idiid IdT 8 ¢ 1 ohig JaTeh S6 TREreAT i Jequr
Fe5HT U oft S GehaT § 7 A9 I hT HIT Afed gy A | 3

Why does the sun appear reddish early in the morning? Will this
phenomenon be observed by an observer on the moon? Justify your

answer with a reason.

31/1/1 10
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18. frefefaa it gfs o o wror i :

(a) Torelt oft Sa-mvee # STuseehi / STUaTSIeRT shi IJUTEATd TR # |

(e aN

(b) et SATER T@eAT § 11 -JaTe Ui BT 2 | 3

Give reason to justify the following :
(a) The existence of decomposers is essential in a biosphere.

(b) Flow of energy in a food chain is unidirectional.

19. (a) G TESIHIEHT TR AT BIESIRIEAT o sftg fIded i & T
IS T qhET forfau |
(b) A % a1 H T84 B W §4 aTel 3cdTal o A1 foafae | 2 At
stfurferan o1 TEmafe aefeR foflae o fomifed 2 areft fafim
YehTL hl FHeliatl ohl S11SU |

(c) T & veprer I Iufedfer & B A FAGT ok | AT A
yfereermue srfsyferan s AT ST B 7 5

(a) Give a chemical test to distinguish between saturated and

unsaturated hydrocarbon.

(b) Name the products formed when ethane burns in air. Write the
balanced chemical equation for the reaction showing the types

of energies liberated.

(c) Why is reaction between methane and chlorine in the presence

of sunlight considered a substitution reaction?

31/1/1 11 [P.T.O.
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20. (a) A HET S O o e U T Tedsh Wit ot s fafae :
(i) STvERE
(i) HaAREE TS
(i) ToiE™

(b) AT Sl TTEAT 3R F T IUi HifrT | 5

(a) Write the functions of the following parts in human female

reproductive system :
(i) Ovary
(i1)) Oviduct
(ii1)) Uterus

(b) Describe the structure and function of placenta.

21. S 3g9eH ¥ 1 ATeqd ® ¢ ST 3g9eH o oTU ITERt 9 ekt sht
T TR 39 W DN WU TS o QUi oh STd 39 h
T ek Tal & Tehdl ¢ 3104 I shi SR0T |fed gfE i | 5

What is meant by speciation? List four factors that could lead to
speciation. Which of these cannot be a major factor in the
speciation of a self-pollinating plant species. Give reason to justify

your anSwer.

31/1/1 12
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22. (a)

(b)

(c)

(a)

31/1/1

et gyt o Heel # = faw T uet i uftam fafee

(i €

(i) oRaT 5

(i) T=T &

(iv) T HIRd

i fow e gdvTT % gET wiew g9 % fore R s it
(i) FId gUur

(i) I U

Fro fou U sTE W foem HifSw | 3EE M 1S 9901 991 P RS
forar 2, fSreRT gdur gRy s Strarfia wfafsrar Q 2 |

TUUT M & TR &l It hifeTe TR Ifdfers Q 1 &hig U fafyms
o7 feAfa | 5

Define the following terms in the context of spherical

Mmirrors :

(1) Pole

(i1) Centre of curvature
(i11) Principal axis

(iv) Principal focus

13 [P.T.O.
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(b) Draw ray diagrams to show the principal focus of a :
(i) Concave mirror

(i1)) Convex mirror

(c) Consider the following diagram in which M is a mirror and
P is an object and Q is its magnified image formed by the

mirror.

State the type of the mirror M and one characteristic property of

the image Q.

23. (a) 39 o g Sfdfers s=en g9 o fore 3 feufa & gerer foreor
i W s ot T o TeRIfTeh hes 3T 3T T&T HIhd
= fom g |

(b) SWrk Tomw oM@ # 3fud fug wfed (sFmHs (+) Ao
HUCH () 75 hdig g oRuel & gEr) fams gt () den
gfafers g (v) ifera IS | oot hifste T @ v 4, 3 gt
et o 1 BT gl (/) O T ST it B |

(c) 39 ¥ i &HAT 1A hIT, ST 37T TERIRTER heg & 20 cm T T
feora Toreft forar o1 —1 31194 1 e fares @ Ieer Uldfers SHT@T © | 5

31/1/1 14
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(a) Draw a ray diagram to show the formation of image by a
convex lens when an object is placed in front of the lens

between its optical centre and principal focus.

(b) In the above ray diagram mark the object-distance (u#) and the
image-distance (v) with their proper signs (+ve or — ve as per
the new Cartesian sign convention) and state how these
distances are related to the focal length (f) of the convex lens in

this case.

(c) Find the power of a convex lens which forms a real, and
inverted image of magnification —1 of an object placed at a

distance of 20 cm from its optical centre.

24. (a) TME AT & A= ST MU g 9T 61 e fafa
qact, aiarien, fheeeta od, gemmsht ufsrmen

(b) TIR & fashrasiial <3 & Aral b hitar-3egar ¥ difea €1
TRl bl AFAEH R IO hi4aT o JeIRY9T /Jferee T gy 3k
foRarT ST HehdT & | 37Tk T o fohtt Tsh Rl THTS 3 ATk IS
T 3H) 929 & IR H SI&hdl 39 Hid & 32T 9 Teh IIH
RIS foRa B | 9fe a8 3w Sfed-agg ° 9 9 % foe ke
ST, Y 3719 39 U &l § fohe Sehm T ot ?

(i) 39 YR o SAMITT hl ST hid 1 3233 TAfau |
(i) U o ITATT I A1 %l T A o T¢I d G0 119

TN hT 3T Tqeh ol ¢ UH QT IRl ohl et SMTST |
(iii) 3 & gt it g S8, S 39 AfwA § foshfd 8 9 2,
S 99 YRR o KT B T Akt Gfshd TS <d © | 5
31/1/1 15 [P.T.O.
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(a) Write the function of each of the following parts of human eye :

Cornea; iris; crystalline lens; ciliary muscles

(b) Millions of people of the developing countries of world are
suffering from corneal blindness. These persons can be cured
by replacing the defective cornea with the cornea of a donated
eye. A charitable society of your city has organised a campaign
in your neighbourhood in order to create awareness about this
fact. If you are asked to participate in this mission how would

you contribute in this noble cause?
(1)  State the objective of organising such campaigns.

(i1) List two arguments which you would give to motivate the

people to donate their eyes after death.

(i11) List two values which are developed in the persons who

actively participate and contribute in such programmes.

HT-d

Section-B

25. ra fou U werel % foRw wEeE 1 ST WIgH AW % fog
TS 1ehuT- TSR oh1 i ok ToTe feharm ST dehaT 2 7 |
(a) Ca(OH), 3R =1 0

(b) NaOH 2 9 &1 ddt
(c) NaOH 3R @< a1
(d) Ca(OH), R @S ae

31/1/1 16
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Which of the following sets of materials can be used for conducting

a saponification reaction for the preparation of soap?
(a) Ca(OH), and neem oil
(b) NaOH and neem oil

(c) NaOH and mineral oil
(d) Ca(OH), and mineral oil

26. Fis BE 25 mL YTRET & IR WeHR™T P, Q, R 3R S Wt T3
@A H 10 mL ST S ¥Rl @ | 98 39 WA 1 =i e daqon
&1 Ueh-Ueh I 39 TR firetmar & — P ® KClL; Q § NaCl; R ® CaCl,

agr S H MgCl, | TeIv=ITd 98 Tcdeh TLEHel H A o forera & T8
TN 2 mL STl © | Teh T o G810t i Hell-HId fee ®

34 TS AT § S 311 e ol §eTeqT 7, F WEH el & - 1
(a) P3MQ (b) R3S
(c) P,Q3M R (d P,Q3MW S

A student takes four test tubes marked P, Q, R and S of 25 mL
capacity and fill 10 mL of distilled water in each. He dissolves one
spoon full of four different salts in each as — KCI in P, NaCl in Q,
CaCl, in R and MgCl, in S. He then adds about 2 mL of a sample
of soap solution to each of the above test tubes. On shaking the
contents of each of the test tubes, he is likely to observe a good

amount of lather (foam) in the test tubes marked :

(@) Pand Q (b) RandS
(c) P,QandR (d P,QandS
31/1/1 17 [P.T.O.
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27. TR TR o fowe # it & 18 fevafort w forem Shifsre - 1

I o stufsrmsti 8 o1 3cud 2l @

I 99F o 39 @eun & forg siffsran fismr & aifesm aeiise
IEIRIEIGIE

I Grtertor stfirfsran weh oy yerr st Sarefiientor stfifsran 2
IV e Tl @l o JEE STl ohl & a 8

34 Tl fewaforr | -

(a) LI

(b) IL LTIV
(¢c) LUIIV
(d) FIALIMRIV

Consider the following comments about saponification reactions :
I Heat is evolved in these reactions

I For quick precipitation of soap sodium chloride is added to the

reaction mixture

IIT Saponification reactions are special kind of neutralisation

reactions
IV Soaps are basic salts of long chain fatty acids

The correct comments are :
(@) I, IIand III

(b) II, II and IV

(c) LITand IV

(d) OnlyIandIV

31/1/1 18
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28. Torelt w1 “forelt feefisTostt <ffst o o1 o fafsrmr vt <Y weem e
TRINT 31 AT © | St ok <t fow e wel | @ 3w e g 1
(a) e, =T, T

(b) TSI, Harehl, =T

(c) W, L, TSI

(d) USHI, HX, <1

A student has to perform the experiment “To identify the different
parts of an embryo of a dicot seed.” Select from the following an

appropriate group of seeds :

(a) pea, gram, wheat
(b) red kidney bean, maize, gram
(c) maize, wheat, red kidney bean

(d) red kidney bean, pea, gram

o

29. fr=ffed § & &F ausTa 3 ol 9= R 7 1
(a) e, ueht 3R fousheht & smUTe
(b) HaeH & hesh AR AT o FHeh
(c) THMES % U@ R fadeht & 1@
(d) ueft & Tg TR TWTES & U@

Which of the following is a correct set of homologous

organs?

(a) Forelimbs of frog, bird and lizard

(b) Spine of cactus and thorn of bougainvillea
(c) Wings of bat and wings of butterfly

(d) Wings of a bird and wings of a bat

31/1/1 19 [P.T.O.
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30. Torelt B 3 JARTRIET i BN o g TRAR W @ Wi sl Sare
T FAIdd U AT ST o1& Yidafers foret o8 W, 3Et S99 o
# wipd g I FA & faw, g fman | S meiem 3 3@ s
T HIhd U 1 3T AT T A U Hid oh ToTT SRINTSIIET & ST
1 km @ o fret waa o1 ®hid o1 gama foam | 3 9
T 3H TEY YA Dl BIRGA B b [T W AT AT TAFTANRG
AT AT : 1
(a) TUUHI UG H P
(b) TG HI YT H K
(c) U ol UYT ht AR
(d) U< ol 9ad i AR

A student obtained a sharp image of a candle flame placed at the

distant end of the laboratory table on a screen using a concave
mirror to determine its focal length. The teacher suggested him to
focus a distant building about 1 km far from the laboratory, for
getting more correct value of the focal length. In order to focus the
distant building on the same screen the student should slightly

move the :

(a) mirror away from the screen
(b) screen away from the mirror
(c) screen towards the mirror

(d) screen towards the building

31/1/1 20
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31. f3u U 39 ¥ A Alerehe Biohd g, Tl g Tod (S, IS 913
SE) I BIhHd Tk, FTd FHH o oI 379 36 forar o1 gfeafens og w
ITCd ST T TR A 2 | 98 X &1 wffores waa & g 2 - 1
(a) ®en R ured witafda
(b) T R Bret
(c) 3 IR BI
(d) TTEY, 3T R BT

To determine the approximate focal length of the given convex lens

by focussing a distant object (say, a sign board), you try to focus
the image of the object on a screen. The image you obtain on the
screen is always :

(a) erect and laterally inverted

(b) erect and diminished

(c¢) inverted and diminished

(d) virtual, inverted and diminished

32. forell STEMAMRR & & Tid § TSRA dTcll ShIeT fohtoT sl 99 STRRad

F & fore, = < meft o H I et gaae B 7 1
P Q R S
(a) P
(b) Q
(c) R
d S
31/1/1 21 [P.T.O.
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33.

Select from the following the best experimental set-up for tracing

the path of a ray of light passing through a rectangular glass slab :

I

P Q R S
(a P
(®) Q
(c) R
d S

Fa feu e e 1 SteeE ST fSrom fordt BT 3 ST1UaH T (L)),
YT I (Lr), TG I (Le), =0 =01 (LA) e faaed i
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(a) ZAd Li
(b) ZA, Zid Lr
(c) ZA, Zi, Ze § £D

(d) ZA, Zi, Zr 9 /D
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34.

Study the following figure in which a student has marked the angle
of incidence (Zi), angle of refraction (£r), angle of emergence
(ZLe), angle of prism (£LA) and the angle of deviation (£D). The

correctly marked angles are :

(a) LA and Zi

(b) ZA, Ziand Zr

(c) LA, Zi, Le and ZD
(d) LA, Zi, Zr and £D

3G 99T 3T 1 Y0 A & S A THIH T H FH 8 39
et 8 T § oo aa R 2
() Trateradfem

(ii) AT SiA

O RSICIEER: Gk

(iv) HIfSTH TESISH FEME ol

What do you observe when you drop a few drops of acetic acid to a

test tube containing :
(1) phenolphthalein
(11) distilled water
(i11) universal indicator

(iv) sodium hydrogen carbonate powder
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36.

ST o Teaved & 39 fomiy =Rur o1 AMifeRd 3T Wifte fSaw 39eht
sk Sreffopd B STTAT © 3T 3T I3 fereett & wehivlT gfemmier gia
gl 2

Draw a labelled diagram to show that particular stage of binary

fission in amoeba in which its nucleus elongates and divide into

two and a constriction appears in its cell membrane.

FI3 B fopdl wellaifa yded gt forat o wfdafensr sl 39 <@ W
Torelt U¢ W wishad aT © | deuvard a8 fR-ofR forer =l of| it ST A
ST 8§, 3R & IR 98 o ol THRIS Sieh foie o Jidfeie ol e W
RIhTd T ¢ | 2

(i) a8 <9 = form foem o Taaia st 8- Ue sl IR AYar ue 9
Y

(ii) Scfers < ATSST 1 T BIAT 2— I8 Tl & 311 T T ¢ ¢

(iii) 5&1 a1 Torat o1 | & STcafersh fHehe o ST 7, a9 Ue W Uidferws &1
FTATR ?

A student focuses the image of a well illuminated distant object on

a screen using a convex lens. After that he gradually moves the
object towards the lens and each time focuses its image on the

screen by adjusting the lens.

(1) In which direction-towards the screen or away from the screen,
does he move the lens?
(i1)) What happens to the size of the image-does it decrease or

increase?

(i11) What happens to the image on the screen when he moves the

object very close to the lens?
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